ER25F4R 5

(BGL - )
B ft X & & # XHRRF
4A2H Z Dt 11,240 | ERBE~NDEEFHIHSFLE
4R6H BN 4, 100 T RABREHRERER - BERER
4R15H Bt 5, 000|h R
4R17H BN 4, 100| B Lt RERFE Rl S =
4R19H BM 4, 100+ FEANBILTHEMS E RS
4R24H = 4,000t FEBRBES LR
4R29H HBM 3900\ FIX Y b EEXREFAERES - IER
B 45 16, 200
Bt 1 5,000
BREL 04
BE 0%
= 14 4,000
Z Dfs 14 11, 240
a5 T 36, 440




ER25F58 5

(BGL - )
B ft X & 2 XHRRF
5A16H BM 4, 900|LEEHmREMR
5A17H = 1,500t EHBRE
5A21H Z Dfs 2, 100|ESHEE~NDELTFBITHESFLE
5A22H BN 5 000|h it BERS
5A29H BM 4,100 (#f) BLEBEABRBEERS
5A31H BN 4, 100|Bs LR T REEBFATES
BM 44 18,100
Bt 04
BREV 04
BE 04
=8 4 1,500
Z Dt Kz 2,100
a&t 614 21,700




ER25F6R 5

(BGL - )
B ft X & 2 XHRRF
6A18 BM 3, 900| FERFHTHER
6H2H B9 3, 800(JLETHZ =
6A8H BM 3, 600(ErmIATI E =
6H128 B9 3, 600 LtHTHE =
6A12H BM 4, 100 EPHETIHE R
6H128 B9 4,100\ ERTHE =
6A22H = 5, 000| R HFFBRA RSB E
6A23H BN 4, 100 BTN RBES
6A23H BM 3, 800|EE R BT ER
6A25H Z Dt 1, 000|f&H K2 & D AIEAEEE R E #fE =X
6A26H Z Dfs 1,000 ERFEMKRITE T2 K
BN 814 31,000
Bt 04
BREL 04
BE 04
EL = 14 5,000
Z Dfs 21 2,000
CEl 1144 38,000




ER25FTA S

(BGL - )
B ft X & 2 XHRANRF
BM 0% 0
Bt 04 0
BREV 04 0
BhE 04 0
=8 0% 0
Z Dt 04 0
a&t 0% 0




ER25F8A 5

(B : M)
B X % ) X HRNAEE
8A3A E= 2,000 NERFFFMELKEREZENESR
8A10H ZDith 10, 500(f2H #rE L &+
8A148 Z Dt 10, 000| B FI R RifEH L&
8H28H Z D 8 40EREE~NDELTHIHESIFLE
B 04 0
B 05 0
HREL 0 0
Hhe 05 0
=& 14 2,000
Z Dt 3 28, 900
&t 44 30, 900




ER25FIA 7

(BGL - )
B ft 5 2 XHRRF

9A8H BM 5, 000| 5Lt X E =

9A9R Z Dt 4, 100 FE R AEABEZREH EREX - BES
BM 1 5,000

Bt 04 0

BR#EV 04 0

BE 04 0

= 0% 0

Z Dt 14 4,100

BF 2t 9,100




ER25F10A 5

(BGL - )
B ft X & 2 XHRRF

10R4H Bt 14, 000 |3 k&% B &k

10A9H B9 4,100t BETHZ =

10A21H Z Dfs 12,200 FZEXEER THRRELEN
HH Kz 4,100

Bt 4 14, 000

BREN 04 0

BE 04 0

= 04 0

Z Dfs 14 12, 200

= 3 30, 300




ER2F1AS

(BGL - )
B ft X & & # XHRRF
1MATH BM 4,100 IUE TREHERBBALLE
11A5H Z Dt 9, 10 MBXHBELZEER TRHELER
11A13H Z Dfs 2,625 FE A REAATH B RITHRARE REUSE
11A238 B9 10, 000|BEA A LU= =
BM 2t 14,100
Bt 04 0
BREV 04 0
BhE 04 0
=8 0% 0
Z Dt 21 11,775
a&t 4% 25,875




ER25F12A 5

(BGL - )
B ft X & 2 XHRRF
12R3H BM 4,900| R F—o v LIl RF—5HAE
12368 T D1t 25, 200| R T —FEXRKFRE A DS
BM 4 4,900
Bt
BR#EV
BE
Z Dt Kz 25, 200
BF 21 30, 100




ER265F1A 5

(B
B ft X & & # XHRRF
1A118 E3 -1 2,000 MREFREHESR S0FFLTKAE]
1A11H8 E3-1 5 000HRF I &
1178 BM 4,100 EMEHER
18208 BN 4,100|Bs LB TR [H1EF RADKLY]
BM 2t 8,200
Bt 04 0
BREV 04 0
BhE 04 0
=8 2t 7,000
Z Dt 04 0
a&t 4% 15, 200




ER265F28 5

(BfL : F)
B X & L XHRNEF
2A1H B 4, 100[mrhEHamEsBHe - HRHE - BUTOTFR U — FERET FETELHER
2A3H T D1t 2,100 BEEZER THRRELER
2A5H = 6, 000|FILEZRIETC LRERFES
2A5H = 6, 000[FILEZRIECLRTFRLERERE
2H9AH B 4, 1005 ILEZERBERS
2A118 =8 2,000 DVFEDEAMEBEZELLER
2A228 - 238 [ZDfth 2,000 LEERFOUTEBIAVI—IL - FELEOLIAVI—LERE
2H827H B 4,100dL EZR =
B8 3t 12,300
Bt
HREL
&
= 3t 14,000
T D1t yAGS 4,100
aF 84 30, 400




TH26%3A 5

(BAL - A
B ft X & & %8 XHRRF
3A8H BN 3,900(/\F 2y b VERKR - EEREFAERER - fER
3A11H Z Dt 27,000(8F - RFREFFERERERM A
HH [R5 3,900
Bt 04 0
BREN 04 0
BhE 04 0
=8 04 0
Z Dt [R5 27,000
CEl 21 30, 900




